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BERE LERRE(A) BUCEERE(B) 1EBIRI(A)-(B)
KBNS 932, 500 1,099, 800 -167, 300
B EUNEE 2,050, 000 978, 505 1,071, 495
REREmE RN 22, 896, 362 21,461,229 1,435,133
ZEERUING 416, 540 423, 990 -7, 450
[EIREETE 0 0 0
BRI 117,000 123, 300 -6, 300
g BB BN 0 0 0
PPN 0 0 0
ERRBEING 19,511,878 17, 180, 840 2,331,038
[EERUY - CAE BRI 7,442,970 8. 683, 600 -1, 240, 630
BRERESM RN 0 0 0
v ZOfhDURZE 9, 800 5,000 4,800
lt" Y-EXEENNERET (1) 53, 377, 050 49, 956, 264 3,420, 786
2 NS 40, 415, 885 36, 959, 220 3, 456, 665
& S 4,828, 090 4,705, 521 122, 569
£ BHE 5, 260, 277 4,911,498 348,779
B | nmaammm 0 0 0
ff HABSRHLBLE 2,256 4,979 2,723
| [ BEECEBERER 0 0 0
SEEEM 0 0 0
A=t 758,933 851, 186 -92, 253
A | miaawm 0 0 0
ESEAZE 2,050, 000 978, 505 1,071, 495
BN E 1, 338, 260 1,232,773 105, 487
EEmE &S R AR -437, 500 -437, 500 0
BN RERR 190, 000 0 190, 000
BUNREER | HEIRA 0 0 0
ZOMOER 0 0 0
Y-CXEEHERT (2) 54, 406, 201 49, 206, 182 5,200, 019
Y-EXEENEFELE (3) = (1) — (2) -1, 029, 151 750, 082 -1,779, 233
BAERF SRR 0 0 0
| |[EmemERS 5, 640 1,277 4,363
| | [ 0 0 0
p | # | 0 0 0
S TOMOY—-EEENINEE 0 0 0
B oeREmIRESE (4) 5, 640 1277 4,363
f}i AR 9 0 5
e EARBATE SR 0 0 0
i i T AR 0 0 0
LDB ZOMOY —EREBME 0 0 0
Tl [p-exEmsrEmE (5) 0 0 0
Y-EXEEIMERERE (6) = (4) — (5) 5, 640 1,277 4,363
REERELE (7) = (3) + (6) -1,023, 511 751, 359 -1,774,870
TR RSB RN 0 1,500, 000 -1, 500, 000
TR RS S M RN 0 0 0
REIPEEESBASTRERTHRING 0 0 0
Bl &SR 0 0 0
‘fé Bl aEE s 0 19,908 ~19, 998
EFEEUEERFTHRARINES 0 0 0
EEEUNEERST EEEEREING 0 0 0
TOMOFFRIUNZEE 0 0 0
;TJ FERIIRZSET (8) 0 1,519, 998 -1,519, 998
b BEAEHEARR 0 0 0
W | e 0 0 0
O |BrsmEsma-asA 0 0 0
: EEMB RS EEAAEE (FREDE) 0 0 0
5 | EE RS S I S 0 1,500, 000 -1, 500, 000
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] LERRE(A) BISEESRE(R) 1ER(A)-(B)

I PR 0 0 0
EERUASRHEASEA 0 0 0
EER ARSI BT EEREEA 0 0 0
ZOMOIERIES 0 0 0
BRIERET (9) 0 1,500, 000 -1, 500, 000

FERIEHESE (10) = (8) — (9) 0 19,998 -19,998

UEREEMEHELE (11) = (7) + (10) 1,023,511 771, 357 1,794, 868
% |AERMEBIENEE (12) 11,231, 432 8 159 415 3,072,017
% LERARMURENERAERE (13) = (11) + (12) 10, 207, 921 8,930, 772 1,277,149
8 [EASEHE (14) 0 0 0
» [E=mmER (15) 1,192, 682 2,300,736 1,108, 054
= [z 2R (16) 190, 000 0 190, 000
¥ eotomamaE (17) 50 % 26
o REMGMUEENERARE (18) = (13) + (14) + (15) + (16) — (17 11,590, 553 11,231, 432 359, 121




